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What Did The Farmer Do When.His Chicken Why did the ant run across the cracker box?
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Distribwtive Property: Marme:;

Combine Like Terms

Simplify the Expressions — No Exponents Worksheet # 3
** SHOW WORK AND CIRCLE YOUR ANSWERS. Remember to change ALL subtraction to ADDING THE OPPOSITE! **
1.) 8x+3(7x~- 6) 2.) 2n+4(n+ 10)

3.) =9(dx- 8) + 2x 4.) 8(x—-4)-4

5) 7x=3(2x+ 5) 6.) -8n-7(n+ 5)

7.) 10(8 - 2x) 8.) 8+42(=7n+ 5)

9.) -5(2x-4) - 10 10.) =5(n+ 10) + 5n

Answer Bank: (Not all will be used)
-10x + 10 -14n + 18 -20x + 12 X + (-15) 8x — 36 -18 + 29x
6n +40 -15n-35 -15n + 25 -50 80 — 20x -34x + 72




